IB HL 1:  Pre HL Review 						Name: _______________________
Day one:
1. 

Give , find the possible values of  k,  for:
a.  The graph of y touches x axis once.




b.   The graph of y intersects x axis twice.




c.  The graph of y is greater than 0 for all x.





2. 

 Given  and, 
a. 
 find . 



b. 
  Find 






[bookmark: _GoBack]Day Two 
1.  Solve for x.  



    a.   		                                                 b.  in		






c.  






2.
[image: ]








3. 
 [image: ]



4.
[image: ]



5.  Solve 
a. 

				b.  

Day Three
1. 


 Given and  , find the domain of  .





2. 
Solve for   


3. 


If  and   , rewrite  in terms of t and u.

[image: ]
4. 
 Given the function f(x), sketch the graph of  




5. 



 Find  given that when  is divided by , the remainder is .







6.  Find  if the coefficient of  in the expansion of  is .	
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Consider the complex numbers #=2+3i and v=3+2i.

(a) Given that — +1:5.expresswinmefoma+bi,a.bem. [4]
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The cubic equation x*+ px*+ g + ¢ = 0, has roots a, B. 7. By expanding
(- ) B)x~ 1) show that

@ O p=—arpen;
@) g=ap=prere
@

Itis now given that p=—6 and g = 18 for parts (b) and (c) below.

c=—afy.

() () Inthe case that the three roos . . 7 form an arithmefic sequence, show that
one ofthe roots s 2.

(i) Hence detemine the value of ¢

(€)  Inanother case the three roots @ §, 7 form a geometric sequence. Determine the
value of ¢
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The function f s defined by /(x) =

(@)

()
()

Sketch the graph of y = 7(x), indicating clearly any asymptotes and points of
intersection with the x and y axes. “

Find an expression for £~ (x). 2]

Find all values of x for which 7(x)= (). Bl




image14.wmf
22

log(5)log(2)3

xx

-++=


oleObject11.bin

image15.wmf
(

)

(

)

ln1ln14ln2

xx

-++=


oleObject12.bin

image16.wmf
43

()

2

x

gx

x

-

=

-


oleObject13.bin

image17.wmf
6

()

3

x

hx

x

=

-


oleObject14.bin

image18.wmf
()()

ghx

o


oleObject15.bin

image19.wmf
2519(5)1500

xx

--=


oleObject16.bin

image20.wmf
ln

xt

=


oleObject17.bin

image21.wmf
ln

yu

=


oleObject18.bin

image22.wmf
lnln()

x

xy

e

+


oleObject19.bin

image23.emf
4

2

-2

y = f(x)


image24.wmf
()3(1)2

gxfx

=+-


oleObject20.bin

image25.wmf
a


image1.wmf
2

3

yxkxk

=+++


oleObject21.bin

image26.wmf
32

450

xxax

-++


oleObject22.bin

image27.wmf
3

x

+


oleObject23.bin

image28.wmf
20


oleObject24.bin

image29.wmf
a


oleObject25.bin

image30.wmf
9

x


oleObject1.bin

oleObject26.bin

image31.wmf
(

)

12

3

xa

+


oleObject27.bin

image32.wmf
5940

-


oleObject28.bin

image2.wmf
k

Î

¡


oleObject2.bin

image3.wmf
()35

fxx

=+


